O &

°

2160
2200

E— @

12

(HABN (1/8)

B B | H»r<URVE
5 4 7 | D&5FAE
@ & [ H2200

& 1030 (RED

HEE=S | KFTH

02247

—

D

L\%
&

®

o |®©

6 BB

Q
]
™

DHFER (1/8)

1000

HO

0650

40
500

BUN (1720
DA, ZEE O

1) EROAZRIESETETT,

B% Lk B B (mm it 2 i 2

1 A 0100x50xt3.2 STKR400 BENRER (RBio- %)
2 S4Bl 0100x50xt3.2 STKR400 HERMRER (FHBHRD- %)
5 Pilixev 7 t1.6 SGH BERNER (RBRD- %)
4 FERR (RAD 50x64.5 ABOB3S i (A W

5 PERR GERD 50x64.5 ABOB3S B imE (182D g

b P B 25X 60 ABOB3S i (185 R

7/ BN AN t0.5 SGC HERMRER (RHHRH- X)
8 MiExey T - ASA -

9 Rivy 7 ¢ 108 40 -

10 el t4 ATYLUA -

11 %g8 t4 ATV LA -

12 W2l t3 ATYUA -

13 AEY Kl $15 ATV LA -

14 ACY KRy %Y ¢ 19 CR -

15 P 6 SPHC HERMER (RHHRH-> %)
16 by t6 SPHC BENRER (RBio- %)
17 LY $12 SGD Baldsan o &

18 kY RAEE t13.5 SPHC BERRER (RBio- %)
19 gy 4x 20 ATV LA -

20 Eg 12 EXi -

2] ST t2 A6063S. EPDM -

22 Hfw b M10x 125 4,615 Baldsnn o &

23 " M10x 85 4,018 BEdsn o &

24 " M8x 120 ATV LA -

25 " M8x 75 ATVUA -

26 b ANRY M4x 10 ATV LA -

27/ BE)NzY M4x 10 AFYULA -

28 k7R by ri- H5? HHs4nA b -

Cf) BREKRIHROLY, TELUEETHIENHVET,




